Page 11 11. The Euler product for (Z).

By defination of weierstrass product defination of M(2) we obtain 1 = Ze 7 [(1+ Z) exp(-Z)] Taking reciprocal. M(Z) = = = = TT ((+ =) exp(=) -> 0 As we know that Y= lim [Hn-logn] log n = log(n+1). = log n + log(n)=)7. = lim [Hn - log(n+1)]. multiplying both Sides by - Z -YZ = lim [-ZHn + Zlog(n+1)]. : Hn = \(\sum_{m=1} \frac{1}{m} - lim (- Z Z + Z log(n+1)] -YZ = lim (-Z \(\frac{\pi}{m=1} \) \(\frac{\pi}{m=1} \) \(\frac{\pi}{m} \) \(\frac{\pi}{m} \) \(\frac{\pi}{m} \) \(\frac{m}{m} \) \(\frac{m} \) \(\frac{m}{m} \) \(\frac{m}{m} \) \(\frac{m}{m} \) \(\f

Scanned by CamScanner
Scanned with CamScanner

Z log (m+1) = Z log (min) - log(m) = log(2) - log(1) + log(3) - log(2) $\frac{1}{2}\log\left(\frac{m+1}{m}\right) = \log\left(n+1\right) \cdot \log(n+1) \cdot \log(n+1) \cdot \log(n+1)$ Taking exponential on both sides $exp(-\gamma z) = \lim_{n\to\infty} \left(exp\left(\sum_{m=1}^{\infty} -\frac{z}{m} \right) \cdot exp\left(\sum_{m=1}^{\infty} \log\left(\frac{m+1}{m} \right)^{z} \right) - \frac{1}{2} \left(\frac{m+1}{m} \right)^{2} \right)$ Put in eq 0. 17(2) = \(\frac{1}{2} \) \(\frac{e^{\gamma z}}{m=1} \left(\left(\frac{1+z}{n} \right) \) \(\exp(\frac{z}{n} \right) \right]. $Z\Gamma(z) = lim \left(exp\left(\frac{\pi}{m-1} - \frac{z}{m}\right) exp\left(\frac{m+1}{m-1}\right)^{\frac{z}{2}}\right)$ $\prod_{n=1}^{T} \left(\left(1+\frac{z}{n} \right)^{-1} exp \left(\frac{z}{n} \right) \right).$ = lim [exp(\(\frac{\pi}{m} = \frac{-\pi}{m}\) exp\(\frac{\pi}{m} = \frac{\pi}{m}\) exp\(\frac{\pi}{m} = \frac{\pi}{m}\) lim II [(1+ 2) exp(2)] lin TI [exp(-t)(1+t)2] .. log II an = lim II ((1+ 2) exp (2). Delogan.

Scanned by CamScanner
Scanned with CamScanner

$$= \lim_{n \to \infty} \prod_{m=1}^{n} \left(\exp\left(-\frac{2}{m}\right) \left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{1}{m}\right)^{2} \exp\left(\frac{2}{m}\right) \right)$$

$$= \lim_{n \to \infty} \prod_{m=1}^{n} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right).$$

$$= \lim_{n \to \infty} \prod_{m=1}^{n} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right).$$

$$I(2) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right).$$

$$I(2) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right) \to 0$$

$$I(2) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right) \to 0$$

$$I(2+1) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right) \to 0$$

$$I(2+1) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right) \to 0$$

$$I(2+1) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right) \to 0$$

$$I(2+1) = \frac{1}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{m}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right)$$

$$= \frac{2}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{n}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right)$$

$$= \frac{2}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{n}\right)^{2} \left(1 + \frac{2}{m}\right)^{2} \right)$$

$$= \frac{2}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{n}\right)^{2} \left(1 + \frac{2}{n}\right)^{2} \right)$$

$$= \frac{2}{2} \lim_{n \to \infty} \left(\left(1 + \frac{1}{n}\right)^{2} \left(1 + \frac{2}{n}\right)^{2} \right)$$

Scanned by CamScanner
Scanned with CamScanner

$$= \frac{Z}{2+1} \prod_{n=1}^{\infty} \left(\frac{1+\sqrt{n}}{1+\frac{2+1}{n}} \right)$$

$$= \frac{Z}{2+1} \prod_{n=1}^{\infty} \left(\frac{1+\sqrt{n}}{1+\frac{2+1}{n}} \right)$$

$$= \frac{Z}{2+1} \prod_{n=1}^{\infty} \left(\frac{1+\sqrt{n}}{1+\frac{2+1}{n}} \right)$$

$$= \frac{Z}{2+1} \lim_{n\to\infty} \prod_{m=1}^{\infty} \left(\frac{(n+1)}{m} \right) \left(\frac{m+2}{m+2+1} \right)$$

$$= \frac{Z}{2+1} \lim_{n\to\infty} \prod_{m=1}^{\infty} \left(\frac{(m+1)}{m} \right) \left(\frac{m+2+1}{m+2+1} \right)$$

$$= \frac{Z}{2+1} \lim_{n\to\infty} \left(\frac{(2)}{Z} \frac{Z}{Z} - \frac{(n+1)}{m} \right) \left(\frac{2+1}{2+2} \cdot \frac{2+3}{2+3} \cdot \frac{2+3}{2+4} \right)$$

$$= \frac{Z}{2+1} \lim_{n\to\infty} \left(\frac{(n+1)(2+1)}{Z+n+1} \right)$$

$$= \frac{Z}{2+1} \lim_{n\to\infty} \left(\frac{(n+1)(2+1)}{Z+1} \right)$$

$$= \frac{Z}{2+1} \lim_{n\to\infty} \left(\frac{(n+1)(2+1)(2+1)}{Z+1} \right)$$

$$= \frac{Z}{2+1$$

Scanned by CamScanner
Scanned with CamScanner